
LiftMaster
300 Windsor Drive
Oak Brook, IL 60523

SM

LED Wi-Fi® Garage Door Opener
Belt Drive Model WLED

• Please read this manual and the safety materials
carefully!

• The door WILL NOT CLOSE unless the Protector
System® is connected and properly aligned.

• Periodic checks of the garage door opener are
required to ensure safe operation.

• This garage door opener is ONLY compatible with
MyQ® and Security+ 2.0® accessories.

• DO NOT install on a one-piece door if using devices
or features providing unattended close. Unattended
devices and features are to be used ONLY with
sectional doors.

• Attach warning labels to the location indicated on
label.

FOR RESIDENTIAL USE ONLY

Register your garage door opener to receive
updates and offers from LiftMaster

Take a photo of the camera icon
including the points (   ).

Send it in by texting
the photo to 71403 (US)
or visit www.liftmaster.photo (Global)

For more information:
www.devancocanada.com
or call toll free at 855-931-3334



2

Contents

Preparation . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 3
Assembly  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 7
Installation  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 9
Install the Door Control . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 17
Install the Protector System® . . . . . . . . . . . . . . . . . . . . . . . . . . . 19
Power. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 23
Adjustments  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 25
Battery Backup. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 28
Operation  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 30
Maintenance . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 37
Troubleshooting. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 38
Accessories. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 40
Warranty. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 41
Repair Parts  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 42



MyQ® Serial Number:

Product S/N

Product S/N:

Date of Purchase:

/       /

MyQ® Serial Number



Check Signal Strength. If you see:

Wi-Fi signal is strong.
The garage door opener will 
connect to your Wi-Fi 
network.

Wi-Fi signal is weak.
The garage door opener may connect 
to your Wi-Fi network. If not, try one 
of the options below to improve the 
Wi-Fi signal:

No Wi-Fi signal.
The garage door opener will not be 
able to connect to your Wi-Fi 
network. Try one of the options 
below to improve the Wi-Fi signal:

• Move your router closer to the garage    
  door opener to minimize interference from   
  walls and other objects
• Buy a Wi-Fi range extender 

Torsion 
Spring

Extension
SpringOR



3/16 

5/32 

5/16

7/16

1/2 

5/8
9/16

1/4

7/16



A B

C

J

N

I
O

P

D E

F

H

G
K

L
M

Not Provided

Not 
Provided

Q



Model 8550W

Washered Bolt 5/16"-18x1/2"
(Mounted in the garage 
door opener)

Hex Screw
#8x3/8"
(Packed with the 
sprocket cover)

Washered Bolt
5/16"-18x1/2"

Hex Screw
#8x3/8"

HARDWARE



Spring Trolley Nut
(To motor unit)

Nut ring
slot

Nut Ring Nut Ring

AFTER RELEASE
1-1/4"

(3.18 cm)

BEFORE
1"

(2.5 cm)

1

2

3





Header Wall

Unfinished 
Ceiling

Vertical Centerline 
of Garage Door

2x4

2x4

Structural 
Supports

Level 
(Optional)

OPTIONAL 
CEILING 
MOUNT FOR 
HEADER 
BRACKET

Sectional door with curved track

Header Wall

Track

2" (5 cm)

Highest Point 
of Travel

Door



HARDWARE

Lag Screw 5/16"-9x1-5/8"

Wall Mount

Optional 
Mounting 
Holes

Vertical 
Centerline of 
Garage Door

(Header Wall)

Header 
Bracket

2x4 Structural 
Support

Door Spring

(Garage Door)
Highest Point of 
Garage Door 

Travel

Horizontal 
Line

Lag Screw
5/16"-9 x 1-5/8"

(Header Wall)

Ceiling Mounting Holes

(Finished Ceiling)

Vertical 
Centerline of 
Garage Door

Header 
Bracket

6" (15 cm) 
Maximum

Door Spring

(Garage Door)

Lag Screw
5/16"-9 x 1-5/8"



Ring
Fastener

Clevis Pin
5/16" X 2-3/4"

HARDWARE

Clevis Pin 5/16" x 2-3/4" Ring Fastener 

Connected Disconnected



FIGURE 1 FIGURE 2

(Not Provided)
Lag Screws
5/16"- 18x1-7/8"

Measure
Distance

Hex Bolt 5/16"- 18x7/8", Lock Washer 5/16", Nut 5/16"-18 

FIGURE 3

Not Provided

Finished CeilingUnfinished Ceiling

Hex Bolt 5/16"- 18x7/8" Nut 5/16"-18  Lock Washer 5/16"

HARDWARE



Trolley
Release Arm 



FIGURE 1

FIGURE 3

Vertical Reinforcement

Vertical Centerline
of Garage Door 

UP

Door Bracket Self-Threading Screw
1/4"-14 x 5/8"

Self-Threading 
Screw
1/4"-14 x 5/8"

Vertical Centerline
of Garage Door 

UP

FIGURE 4

Vertical 
Centerline of
Garage Door 

Bolt 5/16"-18 x 2"
(Not provided) 

UP

Inside Edge of Door or
Reinforcement Board 

FIGURE 2
Vertical Reinforcement

Bolt 5/16"-18 x 2"
(Not provided) 

Lock Washer 5/16"
Nut 5/16"-18

Door Bracket

UP

Vertical 
Centerline
of Garage Door 

Self-Threading Screw 
1/4"-14 x 5/8"

HARDWARE



Straight 
Door Arm Curved 

Door
Arm(Groove 

facing 
  out)

CORRECT

Straight
Door
Arm  

Curved 
Door 
Arm

INCORRECT

Clevis Pin 5/16" x 1-1/4"  

Ring Fastener  

Clevis Pin
5/16" x 1"  

Nut 5/16"-18

Lock 
Washer
5/16" 

Hex Bolt 
5/16"-18 x 7/8"

HARDWARE

Hex Bolt 5/16"-18 x 7/8" 

Nut 5/16"-18  

Lock Washer 5/16"

Clevis Pin 5/16" x 1" 

Clevis Pin 5/16" x 1-1/4" 

Ring Fastener  



HARDWARE
Screw
6AB x 1" (2)

Drywall 
Anchors (2) 

Screw
6-32 x 1" (2)

7/16" (11 mm) 
Wall

1 2 3 

DRYWALL GANG BOX

6AB x 1"

6-32 x 1"Drywall Anchor

4-5 6 

6-32 x 1"

GANG BOX

8 DRYWALL

6AB x 1"

Drywall Anchor

7 



7/16" (11 mm) 
2

3 

1 

Staple

RE
D

W
HI

TE
W

HI
TE

GR
EY



Invisible Light Beam
Protection Area

Safety Reversing Sensor
6" (15 cm) max. above floor

Safety Reversing Sensor
6" (15 cm) max. above floor



HARDWARE

Carriage Bolt
1/4"-20 x 1/2" 

Wing Nut
1/4"-20 

No more
than 6 inches
(15 cm) Carriage Bolt

1/4"-20 x 1/2" 
Wing Nut
1/4"-20 

1 2 3

(Not provided)

No more than 
6 inches (15 cm)

1 2
Inside

Garage

Wall

(Not provided)

Lens
Carriage Bolt
1/4"-20 x 1/2" 

Wing Nut
1/4"-20 

3 4



Inside

Garage

Wall

(Not provided)1 2

Carriage Bolt
1/4"-20 x 1/2" 

Wing Nut
1/4"-20 

3 4

Staple

1 2

3

7/16" (11 mm) 

RE
D

W
HI

TE

W
HI

TE

GR
EYD

RE
D

WRE W
HI

T
W

HI
TE

GGR
EY



Safety reversing 
sensor wires

Pre-installed 
wires 

White
White/Black

Yellow (for example)
Purple (for example) 

Not Provided

Pre-installed wires Safety reversing 
sensor wires

7/16"
(11 mm) 

Yellow

Purple

1

3

4

7/16" 
(11 mm)

2

Yellow
(for example)

Purple
(for example)

To insert or remove the wires from 
the terminal, push in the tab with a 
screwdriver tip.  

5

RE
D

W
HI

TE

W
HI

TE

GR
EYD

RE
D

WRE W
HI

W
HI

TE

GGR
EY



TYPICAL WIRING 

Ground Tab
Green 
Ground
Screw 

Ground 
Wire

White Wire

PERMANENT WIRING 

Black 
Wire

Black 
Wire



Green LEDAmber LED

If the receiving sensor is in direct sunlight, 
switch it with sending sensor so it is on the 
opposite side of the door. 

(invisible light beam)

SENDING SENSOR RECEIVING SENSOR

R
E

D

W
H

IT
E

W
H

IT
E

G
R

E
Y

321

1 2



UP (Open) DOWN (Close)

UP Button

Adjustment 
Button

DOWN Button

Actual product may differ from image shown.

PROGRAMMING BUTTONS



UP Button

Adjustment 
Button

DOWN Button

Actual product may differ from image shown.

PROGRAMMING BUTTONS

1 2 3

4 5

6 7



1 2

1 2



Battery 
Status LED

1 2 3



Battery Status LED







 

Navigation
Buttons

LED

Learn
Button

An LED on the garage 
door opener will indicate 
Wi-Fi status. See table 
below.



Push Bar

LIGHT 
button

Screen

Motion 
Sensor

Navigation 
Buttons



Navigation Buttons

Set the time, choose 12 or 24 hour clock and show/hide clock.
For sectional doors ONLY. Set the Timer-to-Close feature off/on
and set the time interval before door closes. NOTE: DO NOT 

enable TTC if operating a one-piece door. TTC is to be used 

ONLY with sectional doors.
Enable/disable lock.
Set up Wi-Fi*, add remote controls, MyQ® devices, an extra 
remote button to control your garage door opener lights, or a 
keyless entry.
* The garage door opener must run through a complete cycle 

before it will activate Wi-Fi® programming. For help related 
to Wi-Fi, visit WiFiHelp.LiftMaster.com.

Display the temperature in Fahrenheit or Celsius and 

show/hide the temperature. 

Select a language.

Set duration for garage door opener light to stay on after 

operation, selectable range of 1-1/2 to 4-1/2 minutes. Turn the 

Motion sensor off/on, and turn the entry light feature off/on.

Adjust the contrast of the screen.

Displays software version information.

Turn the Maintenance Alert (MAS) on/off.
Displays the number of remote controls, MyQ® devices,
door controls and keyless entries currently programmed 
to operate the garage door opener.
Displays any errors that have occurred.



1 2 3

OR

PIN
? ? ? ?

4

Press to continue. Press to continue.

LEARN LED

LEARN
Button

“clic
k”

“clic
k”

1 2

LEARN Button

Adjustment Button



NOTIC
ENOTICE

Manual 
release









Accessories
880LMW829LM823LM 893MAX

881LMW825LM

886LMW

877MAX

841LM975LM 892LT/
894LT

Smart Control Panel®:

Displays temperature, time 
and system diagnostics; 
includes a push bar to open 
and close the door and a lock 
feature for extra security. 
Security+ 2.0® and Wi-Fi® 
compatible.

Garage and Gate Monitor:

Monitor open/closed status 
for up to 4 MyQ® compatible 
garage door openers or gate 
operators and close them 
from anywhere in the home.

Remote Light Switch:

Automatically control your 
lights using your garage door 
opener, a Security+ 2.0® 
remote control or a LiftMaster® 
Internet Gateway. Simply 
replaces your current wired 
wall switch.

3-Button MAX Remote
Control:

Compatible with LiftMaster® 
garage door openers 
manufactured since 1993. 
Includes visor clip.

Motion Detecting 
Control Panel with 
Timer-to-Close Control:

Multi-function door control 
with motion sensor that 
automatically turns opener 
lights on when it detects a 
person entering the garage. 
Security+ 2.0® and Wi-Fi® 
compatible.

Remote Light Control:

Automatically control your 
lights using your garage door 
opener, a Security+ 2.0® 
remote control or a LiftMaster® 
Internet Gateway. Plugs into 
any interior outlet.

Motion Detecting 
Control Panel:

Multi-function door control 
with motion sensor that 
automatically turns opener 
lights on when it detects a 
person entering the garage. 
Security+ 2.0® and Wi-Fi® 
compatible.

MAX Wireless Keyless Entry:

For use outside of the home 
to enable access to the garage 
using a 4-digit PIN. Works 
with ALL LiftMaster® openers 
from 1993- present.

Automatic Garage Door Lock:

Compatible with 
Security Shield garage door 
openers. Provides added 
security by automatically 
locking garage door travel at 
the garage door track.

Laser Garage Parking Assist:

Laser enables homeowners to 
precisely park vehicles in the 
garage.

2 & 4 Button Learning 
Remote Controls:

Compatible with LiftMaster® 
garage door openers 
manufactured since 1997. 
Also compatible with 
Encrypted DIP for gate 
applications.

374UT Mini Universal Remote 
Control:

The Mini Universal Remote 
Control can be programmed 
to activate up to two 
products, such as a garage 
door opener, MyQ® light 
controls, gate operator, or 
commercial door operator.





1

3

4

5

7

6

2

1
2

3

4

6

7

8

9

10

5

Description Part Number

1 Belt - for 7 foot door 041A5434-11A

Belt - for 8 foot door 041A5434-13A

Belt - for 10 foot door 041A5434-14A

2 Belt Pulley Bracket 041B5424

3 Master Link 004A1008

4 One-Piece Rail 
7 feet (2.1 m)

G2777

One-Piece Rail 
8 feet (2.4 m)

G2778

One-Piece Rail 
10 feet (3 m)

G2770

5 Trolley Assembly
Includes: Master Link (2), 
Clevis Pin (1), Ring (1), Belt 
Clip (1), Threaded Shaft (1), 
and Tensioner Assembly (1)

041B3869-3A

6 Tensioner Assembly 041B4103

7 Trolley Threaded Shaft 041A6689

Description Part Number

1 Curved Door Arm 041B0035B

2 Door Bracket with Clevis Pin and 
Fastener

041A5047-1

3 Emergency Release Rope and 
Handle

041A2828

4 Header Bracket with Clevis Pin 
and Fastener

041A4353-1

5 Remote Control Visor Clip 029C0151

6 Safety Sensor Bracket 041A5266-3

7 Safety Sensor Kit with receiving 
and sending sensors with 3 feet 
(.9 m) 2-conductor wire

041A5034

8 Straight Door Arm 4178B0034B

9 White and Red/White Wire 041B4494-1

10 3V CR2032 Lithium Battery K010A0020

Not Shown

User’s Guide 114A5150

Repair Parts

Rail Assembly Parts Installation Parts



4

3

2

1

4

3
78

9

6

5

Description Part Number

1 Sprocket and Sprocket Cover with Screws 041C0589-2

2 Front End Panel with LED Light Connector/Driver Board 041D9202

3 LED Light Pod 041D2052

4 Transformer 041D0277-1

5 Cover 041D8859

6 Motor with Travel Module 041D8006-1

7 End Panel for Receiver Logic Board with LED Light 
Connector

041D9276

8 Logic Board 050DCTWFLK

9 Travel Module 041D8071-4

Not Shown

Line Cord 041B4245-1

Terminal Block 041A3150

Wire Harness 041D9204

Repair Parts

Garage Door Opener Parts

WLED

 Wi-Fi® is a registered trademark of Wi-Fi Alliance.
 App Store is a service mark of Apple Inc.
 Google Play is a trademark of Google Inc.
 © 2018, LiftMaster
114A5171 All Rights Reserved

Contact Information

Visit us online at:
LiftMaster.com

or
myLiftMaster.com 

Or for installation and service information call:
1-800-528-9131

Before calling, please have the model number of the garage door opener. 
If you are calling about a troubleshooting issue, it is recommended that 

you have access to your garage door opener while calling. If you are 
ordering a repair part please have the following information: part number, 

part name, and model number.

HOW TO ORDER REPAIR PARTS

DEVANCO CANADA
19192 HAY ROAD, UNIT Q

SUMMERSTOWN, ON  K0C 2E0

TOLL FREE: 855-931-3334
www.devancocanada.com

WHEN ORDERING REPAIR PARTS
PLEASE SUPPLY THE FOLLOWING INFORMATION:

	 3 PART NUMBER
	 3 DESCRIPTION
	 3 MODEL NUMBER


	LED Wi-Fi® Garage Door Opener
	Contents
	Preparation
	Assembly
	Installation
	Install the Door Control
	Install the Protector System
	Power
	Adjustments
	Battery Backup
	Operation
	Maintenance
	Troubleshooting
	Accessories
	Warranty
	Repair Parts



